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The idea of use and disuse of organs was given by:

a. Lamarck b. Morgan

c¢. Darwin d. Hugo de Vries

Who used the term heterosis for the first time?

a. Shull b. Keith Downey

¢. Thomas Andrew Knight d. Niels Ebbesen Hansen
Point mutation is:

a. Change in a base of a gene b. Deletion of a segment of gene
c. Loss of gene d. Addition

[f adenine is replaced from guanine then the mutationis..............

a. Transcription b. Transition

c. Transversion d. Frameshift mutation

Which is true about heterosis?

a. Superiority of an F1 hybrid over its b. Superiority of an F1 hybrid over its
male parent female parent

c. Superiority of an F1 hybrid over both  d. None of the above mentioned
of its parenls

Which of the following is incorrect with respect to mutation?

a. Sudden b. Continuous

¢. Change in chromosomes and genes d. Leads to variation in DNA

Who developed the dominance hypothesis?

a. James Crow b. Charles Davenport

¢. Koelreuteris d. None of the above

What was the name of Charles Darwin's most famous book?

a. The Origin of Species b. The Descent Man

¢. The Evolution of Species d. On the Origin of Species by Means of

Natural Selection

In the following compound which is one of the intercalating agents?

a. Ethidium bromide b. 5-bromouracil

¢. 2-lodouracil d. 5-methylcytosine
Which base is generated by the deamination of 5-methylcytosine?
a. Thymine b. Adenine

¢. Guanine d. Uracil
5-bromouracil is the analog of which base?

a. Thymine b. Guanine

¢. Cylosine d. Uracil

2 USTM/COE/R-01




. 5o
o e
{1

ar

Time: 2 hr. 30 mins.

[ Answe

1. What is heterosis? Discuss the different t
formulaes.

2. What is ploidy? Discuss evolution of
with necessary crosses.

3. Discuss tautomerism and base analogue
illustrations. :

4. Discuss the various types of physical n
5. What is evolution? Describe in detail the
6. Discuss the mechanism of mismatch

7. What is embryo rescue and descri
applications. !

8. What is cryopreservation? Descril

application and limitations.




